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02 After lending Franklin the book

03 Feeling anxious and unhappy, he had to find a way to resolve his
feelings.

04 their feelings toward you



05 Chances are my friends are throwing a surprise party for me.

06 not just in politics and science, but also in his ability to deal with
people

07 enough to threaten Franklin’s political career

08 running

09 all three groups were asked to rate how much they liked the
researcher

10 (A) favor (B) positive (C) impression
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01 Have you ever known someone you just did not get along with?
02 Maybe it was someone you had difficulty working with or it could have

been someone you were always arguing with.

03 This kind of situation can leave you wondering what you should do.

04 Should you ignore them, be extra nice to them, or stand up to them?

05 If you have ever been confused about what to do, you are not alone.

06 Luckily for us, Benjamin Franklin, the American politician and inventor,
came up with an answer more than 200 years ago.

07 Benjamin Franklin was a very smart man, not just in politics and
science, but also in his ability to deal with people.

08 Once, when Franklin was serving as a representative for the people of
the state of Pennsylvania, a powerful opponent made a long speech
criticizing him.

09 This speech was so powerful that it threatened Franklin’s political
career.

10 Franklin decided to try to change his enemy’s opinion of him.

11 To do this, he sent a letter to the man asking for a favor.

12 He asked the man to lend him a very rare and valuable book, one that
he knew the man had in his personal library.

13 The man, Franklin’s enemy, immediately sent him the book.

14 Franklin read the book and returned it with a note of thanks.

15 The next time Franklin met his enemy, the man was much nicer to him.

16 They eventually became friends and remained so for the rest of their
lives.

08 - YBM(3h

17 In his autobiography, Franklin explained what happened.

18 Franklin wrote, “He that has once done you a kindness will be more
ready to do you another.”

19 By asking a small favor of his enemy, Franklin gave the man a chance
to do him a kindness.

20 This turned his enemy into a friend.

21 Today this phenomenon is known as the Benjamin Franklin effect.

22 It is commonly thought that if you want people who do not like you to
like you, you should do favors for them.

23 However, if you want to try to create a connection with someone
who does not like you, asking that person to do you a favor is more
effective.

24 To test this phenomenon, a psychologist performed an experiment and
came to the same conclusion.

25 About 80 students were invited to participate in an experiment and
were told they would be given some money after a series of tests.

26 A researcher was hired and made the students dislike him by being
rude to them.

27 The students took the tests and were all awarded the promised money.

28 They were then divided into three groups.

29 Group 1 was asked by the researcher to return some of the prize
money.

30 He explained that he had used his own money for the tests and the
study was in danger of running out of funds.

31 Group 2 was asked by a secretary to return some of the money to the
institution because the budget was running low.

32 Group 3 was not asked to return any money.

33 Afterward, all three groups were asked to rate how much they liked the
researcher.

34 The people in Group 1, who had done the researcher a personal favor
by returning some of the money, rated the researcher the highest.

35 Despite the fact that they had had a bad impression of him during the
experiment, they had more positive feelings for him after returning “his
money.”

36 How can it be that we feel more positive toward people for whom we do
favors?

37 It is because of what psychologists refer to as “cognitive dissonance.”

38 We want our actions and our thoughts to be in harmony.

39 When we do something that we do not like, the balance is broken, and
we feel unhappy.

40 If there is a conflict between our thoughts and our actions (cognitive
dissonance), we will change one or the other to relieve the conflict.

41 After lending Franklin the book, Franklin’s enemy experienced cognitive
dissonance.

42 He felt troubled because he was doing something nice for someone he
disliked.

43 Feeling anxious and unhappy, he had to find a way to resolve his
feelings.

44 The easiest way for him to do that was to change how he thought
about Franklin.

45 He justified doing the favor by telling himself that Franklin was not a bad
person after all and convinced himself that he actually liked Franklin.

46 |s there someone with whom you would like to have a better
relationship?

47 Try asking that person for a small favor, such as lending you a pencil or
watching your bag while you go to the restroom.

48 Then see if their feelings toward you change.

49 The chances are they will.
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01 In India, many traditions are today being challenged as a result of
globalization.

02 The practice of eating a home-cooked meal for lunch, however, continues.

03 In Mumbai, many people who work in offices far from home rely on an
express food delivery service run by dabbawalas.

04 Dabbawalas are delivery men who carry hot lunch boxes for Mumbai
office workers from their homes to their offices.

05 The word dabbawala comes from the Hindi dabba meaning “lunch
box,” and wala meaning “the person who carries it.”

06 Most dabbas, or lunches, reach their destination after passing through
several pairs of hands.

07 A typical scenario would have one person on a bicycle pick up a dabba
by 9:00 a.m. from about thirty different addresses.

08 After collecting all of the dabbas assigned to him, he takes them to the
nearest train station.

09 Another person loads each dabba onto the right train, sending them off
in different directions.

10 A third person rides on each of the trains with the dabbas.

11 Finally, a fourth person picks up the boxes at the receiving station and
distributes them, again by bicycle, to each customer’s office, all by
12:30 p.m.

12 The empty dabbas are picked up by 5:00 p.m. and are returned to their
original addresses by the same team, following the same procedure in
reverse.

13 The dabbawala service began around 1890, when a banker hired a
young man to deliver a lunch box from his home to his Mumbai office.

14 Other people liked the idea and copied it.

15 When demand for the service expanded, a businessman started the
lunch-delivery service in its present format.

16 Now, more than 120 years later, the dabba is a unique part of the
Mumbai culture.

17 Why do Mumbai workers not take their lunch boxes with them in the
morning, when they leave for the office?

18 Those who use the dabbawala service are mostly middle-class office
workers who live in one of Mumbai’s suburbs.

19 They have to leave for the office early in the morning, riding on a
packed train.

20 It would be difficult for them to carry their own dabba.

21 Also, they often have dietary restrictions, depending upon their religion.

22 Hindus do not eat beef, Muslims do not eat pork, and Jains do not eat
onions and potatoes.

23 As a result, it is not easy for workers to find the right food in restaurants
near their office.

24 To meet their dietary needs, Indian workers prefer their home-cooked
meals, made especially for them.

25 Today approximately 5,000 dabbawalas cover 70 square kilometers in
and around Mumbai.

26 They conduct about 400,000 transactions daily—200,000 lunch boxes
are delivered to offices every morning, six days a week, and 200,000
are returned home every afternoon.

27 They even deliver in the pouring rain and during political strife.

28 Surprisingly, hardly any cases of late or mistaken delivery are ever
reported.

29 Their motto is “error is horror.”

30 The dabbawalas are proud of their 99.99 percent accuracy rate, which
means just one mistake in every six million deliveries.

31 It is an amazing record, considering that most of the dabbawalas are
illiterate and that not a single piece of paper is used in the delivery
process.

32 The secret to this error-free system is in a coding system.

33 Each dabba carries a code, painted with different colors, numbers, and
symbols.

34 These codes tell the dabbawala where the food comes from and which
railway stations it must pass through on its way to a specific office in a
specific building, in Mumbai.

35 The dabbawala organization is an outstanding example of an efficient
distribution system.

36 It is simple, relies on teamwork, has a low operating cost, and delivers
almost 100 percent customer satisfaction.

37 It is not surprising, then, that business schools and large corporations
around the world learn from the dabbawala system.

38 Today, most people cannot imagine an efficient delivery system
operating without the benefit of technology.

39 Dabbawalas, however, demonstrate that with no form of technology,
some of the old ways may still be the best ways.
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01 (a) working (b) wondering (c) confused
02 made — came
03 He was a politician and inventor.
04 HIXIDI DRASEI0| M25 W 2 OS2 X|LHX| RSh= AR>Sl Ql7htt
AE 7Nste 2y
05 ignore
06 O — was serving, @ — that
07 autobiography
08 By asking a small favor of his enemy, Franklin gave the man a
chance to do him a kindness.
09 (1) (B)
(2) (A) He was good at not just politics and science, but also
dealing with people.
(C) The man immediately sent him the book.
10 (1) A powerful opponent made a long speech criticizing him, which
was so powerful that it threatened Franklin’s political career.
(2) He sent a letter to the man asking the man to lend him a very
rare and valuable book.
(3) Franklin and his opponent eventually became friends and
remained so for the rest of their lives.
11 You can be a friend with your enemy by asking him to do you a
favor.
12 you want people who do not like you to like you
13 2t O 20] 0ZHE S Z0I5HK| Y= F7tet HAE
H, T A0 I 20H 22E HIEES QF5k= A0 O F24A0|Ct.
14 @ — dislike, @ — rated, ® — Despite
15 the study was in danger of running out of funds
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oQl
0;

16 Therefore — However

17 good (impression) — bad

18 (a) personal favor (b) more positive

19 (a) our actions and our thoughts in harmony
(c) resolve his feelings

20 action or thought

21 to change how he thought about Franklin

22 The chances are that they will.
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01 despite — (allthough, challenging — challenged,
continue — continues

02 many people who work in offices far from home rely on an express
food delivery service run by dabbawalas

03 deliver hot lunch boxes for Mumbai office workers from their
homes to their offices

04 the delivery man called dabbawala in India and its meaning

050

06 typical

— reachlarrive at], @ — pick up, @ — sending them off

07 eliminating — collecting, attributes — distributes

08 (A) picks up (B) loads (C) rides on (D) distributes
(E) are returned to

09 (Mhe (D)elivery (P)rocess (0)f (D)abbawalas

10 @ — demand, @ — suburbs

11 be not easy for them to carry their own dabba

12 religion

13 (a) ride (b) dietary restrictions

14 unique

15 @ — conduct, ® — means

16 (A) mistaken (B) error-free

17 which railway stations it must pass through on its way to a specific
office

18 (a) code (b) (d)estination

19 @ accuracy ® coding system © codes

20 illiterate

21 most people cannot imagine an efficient delivery system operating
without the benefit of technology
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It is simple, relies on teamwork, has a low operating cost, and delivers
almost 100 percent customer satisfaction.0i Ctatial =9 EXE0|
HIAI=|0 ALH.

with no form of technology, some of the old ways may still be the best
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p.150~158

01® 02® 03® 04 ® 05 deserve 06 ®
07 ® 08 | think Noah just feels left out. 09® 100
11® 120

13 it’s important not to be stressed out if you really want to control
14 You should wear what makes you feel comfortable.
15 (1) (Being) Having dinner

(2) (Having been) Made in Italy

(3) Not having heard the weather report
16 ® 17 @ 18 what — which
210 22® 23®
24 leave you wondering what you should do

19® 20®

25 (1) commonly thinks — is commonly thought (2) ask — asking

26® 27 ®@ 28

29 Feeling anxious and unhappy, he had to find a way to resolve his
feelings.

30 The chances are they will change.
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p.159~167

01® 02®@ 03 got stuck 04® 05 @
06® 07® 08®@ 09 ®
10 | stayed one night in the desert. 11 interested 12®
130
14 It was careless of Arthur to make the same mistake. 15®
16 @
17 The family had lived in San Francisco for 10 years when Kate left

for college.
18 thoughtful of the boy 19®
20 are today being challenged as a result of 21®@ 22®
23®@ 24 procedure 25® 26 @ 270
28®

29 @ Each dabba carries a code, painted with different colors,
numbers, and symbols.
® The dabbawalas are proud of their 99.99 percent accuracy rate,
which means just one mistake in every six million deliveries.
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